




projecting to xy-plane get ellipse,
and projecting to xz-plane get a
line segment.



this is not (0,0) at the origin, but F is

Along the line y=x, the horizontal component is not zero, but it is for F





u is tangent to
the level curve

v is pointing in the
direction of greatest
decrease, not the
greatest increase

divide curve into four pieces of length
approximately pi/4 (which is
a little larger than 3/4).  Average values
on of four pieces are approximately
4.2, 3.5, 2.5, and 1.7.  Adding each of
these times 3/4, gives approximately
 12(3/4) = 9


